SECONDARY SCHOOL EXAMINATION - 2024 (ANNUAL)

Model Set
Sub. Code -114
Advanced Mathematics (Optional)
Sod TN (Yfes®)
A YT B A=A : 100+30+8 = 138 qurfe — 100
Total no. of Questions : 100+30+8 = 138 Full Marks - 100

ghenfefal & ferg 37T -

Instructions for the Candidates :

1. el OMR IR =6 UR U U YRADHI HHId (10 3fhi BI1) Jaw
ford |
Candidate must enter his/her Question Booklet Serial No. (10 digits)
in the OMR Answer Sheet.

2. Q&R JATEHT U TRl H B IN T |
Candidates are required to give their answers in own words as far
as practicable.

3. QI AR BN R ¥ gY &fd yorie Mfde &_d 3 |
Figures in the right hand margin indicate full marks.

4. U BT UGS YgA B oy 15 e @1 ifoRaad W faar ar 2

An extra time of 15 minutes has been allotted for the candidates to

read the questions carefully.

5. T U YRAPI I WSl H § — WUS—IA Td @US—4 |
This question booklet is divided into two sections — Section-A and

Section-B.



Gue—3f # 100 IRFS UL §, RH 4§ fF= 50 Ul &1 IR AT
JFE T TE W IMf¥e Ul & SR od WX UYH 50 IO™I Bl Bl
P gRT fhar SIQerT | U”e ued @ forg 1 sfd eiRa g1 g7iar we
IR Bl U IRY T OMR IR 956 d QU MU ¥ fddeq &l
el /BTl dfcl U9 W TTe &y | bl fl UhR & gseR / ool Ucrd
/ &e / A A &1 OMR SR UFd H YA GRAT A4 &, I3
aRUTH M=T 8T |

In Section-A there are 100 objective type questions, out of which

any 50 questions are to be answered. First 50 answers will be
evaluated in case more than 50 questions are answered. Each
question carries 1 mark. For answering these darken the circle with
blue / black ball pen against the correct option on OMR Answer
Sheet provided to you. Do not use Whitener / liquid / blade / nail etc.
on OMR-sheet, otherwise the result will be treated invalid.

Gus—q H 30 oY IR YA §, o ¥ =8l 15 Ul &1 IR oAl
fard 1 gdd w3 B fory 2 ofw fFuiRd R 1 5o aifoRem, g9 @vs ¥
8 Y IR Uy i W § H 9 5=t 4 vl @1 SR S B
UAd U B forg 5 3fp MuiRa 2 |

In Section-B, there are 30 short answer type questions, out of which
any 15 questions are to be answered. Each question carries 2
marks. Apart from these, there are 8 long answer type questions,
out of which any 4 questions are to be answered. Each question
carries 5 marks.

¥l UBR @& Solagi~d IUDHRYT HT GINT Yuidal afoid o |

Use of any electronic appliances is strictly prohibited.




s — 3 / Section - A
g gz / Objective Type Qestions

g9 W=7 1 ¥ 100 9P D YT B G IR fdbey fau 1y € 99 9 e 9E) 2
=gl 50 Ul & SR U §RT Y MY el fddbed Bl OMR e wR fifed &Y |
50x1=50

Question nos. 1 to 100 have four options, out of which only one is correct.

Answer any 50 questions. You have to mark your selected option on the
OMR-sheet. 50x1=50

1. o Byo o yoiel & R gHigdnie B wdaNws fig ) fAedd €

HEATT &
(A) 37 B (B)ea =
(C) T &= (D) TRa=

The perpendicular bisectors of the sides of a triangle pass through the
same point, is said to be
(A) incentre (B) ortho centre
(C) centroid (D) circumcentre
2. afd cosecx = secx Al X &1 AF BT
(A) 45° (B) 75°
(C) 30° (D) 60°

If cosecx = secx then the value of x will be



(A) 45° (B) 75°

(C) 30° (D) 60°

75° & AR BV &7 A AfalRad & 9 i 7 ?
(A) 255° (B) 105°

(C) 435° (D) 285°

Which one of the following is equal to the value of co-terminal angle of

75° 2
(A) 255° (B) 105°
(C) 435° (D) 285°

7 {59 UHR @ dEar g ?

(A) sTafRFa e (B) Rz <

(C) gof < (D) wre <
Which type of numberis ?

(A) Irrational number (B) Rational number
(C) Whole number (D) Natural number
fa=gatl (a, b) @M (-a, -b) & a4 &1 0 &

(A)O (B) 1

(C) Vab (D) 2Va? + b2

The distance between the points (a, b) and (-a, -b) is

(A)O (B) 1



(C) Vab (D) 2Va? + b2
afe a3l (a, b+c), (b, c+a) 3R (c, a+b) TdHRaw & ar

a(c-b)+b(a-c) + c(b-a) BT HF BRI

If the points (a, b+c), (b, c+a) and (c, a+b) are collinear, then value of

a(c-b)+b(a-c) + c(b-a) will be

cos0%°cos1%cos2’, ... cos180° &1 A 21T
(A) -1 (B) 0
(C) 1 (D) 2
The value of cos0%cos1°cos2’, ... cos180° will be
(A) -1 (B) 0

(C) 1 (D) 2




10.

How much radian is equivalent to 50 grade ?

(A) (B)

NI

(C)% (D)g
(z?n)ca%waﬁwmﬂﬁmwﬁﬁﬁm

(A) 30° (B) 45°

(C) 60° (D) 90°

The value of supplementary angle of (z?n)c in sexagesimal system will

be
(A) 30° (B) 45°
(C) 60° (D) 90°

FAYCHST BT UAE 3l BV BT AN JO Ggfa | g1 8
31 ¢ 2T ¢

A) ) (B) ()
37, ¢ AT, .

©) ) D) (5D

Each and every angle of a regular hexagon in circular system equals to

37\ ¢ 2T ¢
A &) B) )
KN LU
©) ) () ()



11.

12.

13.

el ST & P12 : 3:4 @ U § & A 419 dTel DIV B AF JI

agfer % 8N
(A) 5)° (B) )
(©) F (D) (2)°

The angles of a triangle are in the ratio of 2 : 3 : 4 then value of the

middle angle in circular measure will be

(A) ) (B) )
() DF (D) (2)°
sec29

cosec61°

(A) -1 (B) 0
(C)1 (D) 2

U%B:(%)Cawlzssﬁiﬁaﬁrmﬂﬁm

(A) 115 5T (B) 215 T
(C) 315 &0 (D) 415 ¥

If o = (118)0 and [ = 55 cm then the value of r will be

(A) 115 cm (B) 215 cm

(C) 315 am (D) 415 cm



14. 30 Mo /30 Bl fHoHio /geT | geot= TR uRomdT g
(A) 36 (B) 72
(C) 108 (D) 144
The resultant value of converted form of 30m/sec in Km/hr will be
(A) 36 (B) 72
(C) 108 (D) 144

15.  IfT secA —tanA = x T secA &1 919 =ifbd § da AT 8 ?

(A) x - = (B) x + =

(C)=(x-) (D) 5(x +-)

If secA — tanA = x then which one of the following is equal to secA ?

(A) x - = (B)x +~
(C)5(x - = (D) 5(x + )

16. IfT 13cosH = 5 dr cotfd &1 919 BT

5

(A) = (B) =
(C)= (D)=
If 13cosO = 5 then the value of cotf will be
(A) = (B) =
(C) = (D)=

17. If sinf + cosech = 7 AT sin26 + cosec?6 &1 919 B



18.

19.

20.

(A) 49 (B) 45
(C) 43 (D) 47

If sin@ + cosecO = 7 then the value of sin?8 + cosec?8 is

(A) 49 (B) 45

(C) 43 (D) 47

cos(A —B)—cos(A + B) &1 A9 &

(A) 2sinAsinB (B) 2cosAcosB
(C) 2sinAcosB (D) 2cosAsinB

The value of cos(A — B) — cos(A + B) is
(A) 2sinAsinB (B) 2cosAcosB
(C) 2sinAcosB (D) 2cosAsinB

secO &1 919 tanf & Ui H BITT

(A) 1 + tan®0 (B) 1-—tan®@
(C) V1 + tan26 (D) V1 — tan?6
The value of sec@ in terms of tang will be

(A) 1 + tan®0 (B) 1-tan’@
(C) V1 + tan26 (D) V1 — tan?6

cos%”aﬂﬂﬁ%ﬁ?ﬂ%‘

(A) -3 (B)- %

C)-= (D) -1



21.

22.

23.

31T .
The value of cos—-is

(A)-2 (B)- 7
\/—
(©)-5 (D) -1
COS2A =
1+tan?A 2tanA
( ) 1-tan?A ( ) 1-tanzA
2ta 1-tan?A
( ) 1+tanZA ( ) 1+tanZA
c0s105° &1 719 8
1-+/3 1++/3
s B
V3-1 2v/2
©) 2= O 2%
The value of cos105° is
1-+/3 1++/3
N5 B
\/§_ 1 2\/5
(C) 2V2 (D) V3-1

I A+ B+ C=mdl cos(A+ B) &1 A BN

(A) cosC (B) Colsc
(C) - Colsc (D) - cosC

If A+ B + C = m then the value of cos(A + B) will be

10



(A) cosC (B)

1

(C)-— (D) - cosC
24. IfE 2cosf =31 O HT AM ©

(A) = (B)

) (D)

If 2cos@ = /3 then the value of 0 is

(A)Z (B)Z
(©)Z (D)2

25. A sin20 = cos30 A1 O &1 A &RM
(A) 70° (B) 30°
(C)18° (D) 50°
If sin260 = cos360 then the value of 6 will be
(A) 70° (B) 30°
(C)18° (D) 50°

26. €0s18° &1 A9 BT ©

(A); V10 +2V5 (B); V10— 25
(C)4v10 + 2V5 (D) 4v10 — 2v/5

The value of cos18%is

11



27.

28.

29.

30.

V10 + 245
(C)4v10 + 25

cos?A — sin’A =

(A)

A

(A) sin2A
(C) tan2A

sec42° sec56°

cosec480 * cosec349

sec?13° — cot’77° &1 "+ © —

(A)1

(C)0

The value of sec®13° — cot’77% is

1+cos
BT A B

1-c

(A) cosecA - cotA

(C) cosecA.cotA

(B); V10 —2V5

(D) 4410 — 2+/5

(B) cos2A

(D) cot2A

(B) cosecA + cotA

(D) sinA.tanA



31.

32.

33.

1+cos

The value of will be

1—cos
(A) cosecA - cotA (B) cosecA + cotA
(C) cosecA.cotA (D) sinA.tanA

6:00 I91 TSI & e & g3 IR ¢ & g & 41 BT IV BT

(A) 0° (B) 90°

(C) 45° (D) 180°

The angle between the minute hand and hour hand of a clock at 6:00
o’clock will be

(A) 0° (B) 90°

(C) 45° (D) 180°

g B & UA® BV H AM g TS H BT @

(A)

N ]

(B)

Wil

(C)

S

(D)2

The value of each and every angle of an equilateral triangle in circular

system is
e GE
(C)= (D)%

1 @ R fe=falRad & 9 &9 78 @

13



34.

35.

36.

(A) sinf.cosec6 (B) cosf.sech
(C) tanf.coto (D) sin6.cos6
Which of the following is not equal to 1 ?

(A) sinf.cosec6 (B) cosf.sech
(C) tané.coto (D) sinf.cos6
cos(A + B).cos(A — B) &T A9 8RTI

(A) cos®A — sin’B (B) sin’B — cos®A
(C) cosA — cos’B (D) sin’B — sin®A
The value of cos(A + B).cos(A — B) will be

(A) cos®A — sin’B (B) sin’B — cos®A
(C) cos?A — cos’B (D) sin®B — sin®A

Il A+B+C ngﬁcos(B+C)?b‘rm?f€ﬁT—

(A) cosA (B) sinA

(C) -sinA (D) -cosA
fA+B+C = % then the value of cos(B + C) will be

(A) cosA (B) sinA

(C) -sinA (D) -cosA

e T ge7 @1 BT & aWls SAD SHalsd IRIeR 8l Al 39 9 I &

S DUl 2]

14



37.

38.

39.

(A) 30° (B) 45°
(C) 60° (D) 75°
If the length of the shadow of a tree be equal to its height then the

angle of elevation of the sun at that time will be

(A) 30° (B) 45°
(C) 60° (D) 75°
sin1800° =

(A) 0 (B) 1
(C) -1 (D) %

HAGIOT el H T B0 gaa | MER =il § A fhad gaa Srdn
g 7

(A) T (B) wfege

(C) ®oi (D) 3R

Converting the reference angle in a right angled triangle, base changes
into which of the following ?

(A) perpendicular (B) Median

(C) hypotenuse (D) base

fpel st 7 gRMART 30 SIS © SR $HD! Yol 5 : 12 : 13 S AU 4 &
ar et @ ugfa Brf

(A) Tfearg PRt (B) T FHETE et

15



40.

41.

(C) wwarg et (D) F¥IoT Ryt
The perimeter of a triangle is 30 units and its sides are in the ratio of 5
: 12 : 13 then the nature of the triangle will be

(A) isosceles triangle (B) right isosceles triangle

(C) equilateral triangle (D) right angled triangle

el st & D11 B & <1 &1 #9 Ad Yoreil 9o st ABC & uRqa
@ frear (R) @ uel # 8am g |

The value of sine of an angle B of a triangle ABC in terms of its

corresponding sides and the radius (R) of its circumcircle is

2R

el FHBIOT ST B &1 Yolrsll bl oTHTs 3 WoHIo 3R 4 HoHlo & ol Huf
Pl AT BT

(A) 3 | (B) 4 ¥

(C) 2 9 (D) 5 &

Length of two sides of right angled triangle is 3 cm and 4cm then the

length of the hypotenuse will be

16



42.

43.

44.

(A) 3 cm (B) 4 cm

(C)2cm (D) 5cm

e Bl Bgst § &1 BIol &1 3R 60° Ud AR BIUT 30° & A Fad d
HTOT HT A RT

(A) 75" (B) 105°

(C) 120° (D) 135°

If difference between the two angles of a triangle is 60° and the third

angle be 30° then the value of the greatest angle will be

(A) 75° (B) 105°
(C) 120° (D) 135°
a 4 a+b

Ay =g =
(A)2 OF
(C)Z (D) =
< =2 then L2 =

b 3 b
(A)2 (B)+
(C)Z (D) =

17



45.

46.

47.

s(s—c) s(s—b)
A =7 B) =0

s(s—a) (s—a)(s—b)s—c)
© ) e

gfe st ABC #, £C=105°, /B=45°, a =29 a1 b &1 719 &
(A) 4v/2 JH (B) 3v2 a+
(C) 2v/2 =i (D) V2 &+

If in triangle ABC, ZC=105°, #B=45°, a = 2cm then the value of b will

be

(A) 4v/2 cm (B) 3v2 cm
(C) 2v2 cm (D) V2 cm
tan(; - 6) =

B g B) tane
©) ) fangs
IS tanf=1a1 6 &1 H9 & —

(A) 30° (B) 45°
(C) 60° (D) 75°

If tan@ = 1 then the value of 0 is

(A) 30° (B) 45°
(C) 60° (D) 75°




48.

49.

50.

51.

- 2 —
sec@—\/g:>9

(A) 0° (B) 30°
(C) 45° (D) 90°
el fag &1 fdena® (x,y) & a1 SHal dife ©

(A) X (B)y

(C) —x (D) -y

The co-ordinates of point are (x, y) then ordinate is

(A) x (B)y

(C) —x (D) -y
TAfRgafg 3 4T We -

(A) 3 5HTE (B) 4 e
(C)5 soT% (D) 7 soT%
The distance of the point (3, 4) from the origin is
(A) 3 units (B) 4 units
(C) 5 units (D) 7 units

y—31eT TR x—ced &7 A9 Bl & —

(A) 1 (B) 2
(C)3 (D)0
The value of x-co-ordinate on y-axis is

(A)1 (B) 2

19



52.

53.

54.

(C)3 (D)0
g (-3, —4) # ®Ifc &1 A4 2

(A)-3 (B) -1
(C) -4 (D) -7
The value of ordinate of the point (-3, -4) is
(A) -3 (B) -1
(C) -4 (D) -7
fag (-5, 6) for =rqgerter # Rerd © 2

(A) g (B) fecita
(C) T (D) =rged

In which quadrant does the point (-5, 6) lie ?
(A) first (B) second
(C) third (D) fourth
g (3, 4) &7 x—3eT F A & —

(A) 3 5TE (B) 4 1%
(C)5 soT% (D) 1 soT%

The distance of the point (3, 4) from the x-axis is
(A) 3 units (B) 4 units

(C) 5 units (D) 1 units

20



55.

56.

57.

fogail (4, 7) @1 (x, 3) B FAATaE! WEre & 79 fig & e
(6, 5) & @I x &1 A9 BT

(A) S (B) 6

(C)7 (D)8

If the point (8, 5) be the mid point of the line segment joining the points

(4, 7) and (x, 3) then the value of x will be

(A) 5 (B) 6
(C)7 (D) 8
fagatl (=3, 12), (7, 6) T (x, 9) x & fa 71 & foIT yaRa®w 7 ?
(A) -1 (B)-2
(C) 1 (D) 2

For what value of x are the points (-3, 12), (7, 6) and (x, 9) collinear ?
(A) -1 (B) -2

(C) 1 (D) 2

e fd=geil (<3, b ) T (1, b + 4) B HAW d1el IErE & 7 o5 &
e (1 )3 arb & AAE

(A) -1 (B) 1

(C)2 (D)0

If (-1, 1) is the mid point of the line segment joining the points (-3, b)
and (1, b + 4) then the value of b is

21



58.

59.

60.

(A) -1 (B) 1
(C) 2 (D) 0
fa=gall (2, —3) AT (5, 6) B AT aTell YWRITS Bl x—7eT b\ rgura H

fayad Bl g ?
(A)2: 3 (B)3:5
(C)1:2 (D) g9 By =TEl

In what ratio does the x-axis divide the line segment joining the points
(2, -3) and (5, 6) ?

(A)2: 3 (B)3:5

(C)1:2 (D) None of these

afe (1, 0), 6, —2) AT (8, 2) fpell BT & W B A gD D= B
freeme 8

(A) (12, 0) (B) (6, 0)

(C) (0, 6) (D) (4, 0)

If (-1, 0), (5, -2) and (8, 2) are the vertices of a triangle then the co-
ordinates of its centroid will be

(A) (12, 0) (B) (6, 0)

(C) (0, 6) (D) (4, 0)

fag¢ (4, 0), (4, 3) TqAT (0, 3) A T & A9 MY & I sHD AHoN H
U Il @1 TS ©

22



(A)5 (B) 4
(C) 25 (D)3
If (4, 0), (4, 3) and (0, 3) be the three vertices of a rectangle then the

length of one of its diagonals is

(A) 5 (B) 4
(C) 25 (D)3
61. TR SINA + —— =271 SiN°A + —— T I &
(A) 4 (B)6
(C)2 (D) 1
If SinA + ﬁ = 2 then the value of sinA + Si:ZA will be
(A) 4 (B)6
(C) 2 (D) 1

62. Yol fhd TATT # gFTHS BT € TR DIfC FUMHD ?

(A) g (B) fecita

(C) T (D) =rqef

In which quadrant is abscissa positive but ordinate negative ?
(A) first (B) second

(C) third (D) fourth

63. Ife sina = cosf Al f &AM o & UGl H BT

23



(A) a + 90° (B) 90° -
(C)180° - a (D) 180° + «
If sina = cosp then the value of B in terms of a will be
(A) a + 90° (B) 90° -
(C) 180° - « (D) 180° + a
64. Tfe cos80° + cos40® = cosh @ O &1 A B
(A) 120° (B) 40°
(C) 20° (D) 10°
If cos80° + cos40° = cos6 then the value of 6 is
(A) 120° (B) 40°
(C) 20° (D) 10°
65. Jf< cosf —2sin@ =17l @ &I 919 &
(A) 30° (B) 45°
(C) 60° (D) 0°
If cos6 — 2sinf = 1 then the value of 0 is
(A) 30° (B) 45°
(C) 60° (D) 0°

. T . T
66. 3sin— - 4sin®— &1 A9 a¥EN ©
12 12

(A) V2 (B)

Sk

24



67.

68.

69.

(C) V2 (D) - -~

. T . T .
The value of 3SInE - 4S|n3E is equal to

(A)VZ (B)
(C)-V2 (D)- %

1 — 2sin’a &7 A9 BT 8 —
(A) sin2a (B) cosec2a
(C) sec2a (D) cos2a

The value of 1 — 2sin®a is equal to

(A) sin2a (B) cosec2a

(C) sec2a (D) cos2a

afg cosecy=j—§G|%°T 0<y<180°dr y &1 A9 & —

(A) 45°, 120° (B) 30°, 120°

(C) 60°, 150° (D) 60°, 120°

If cosecy = j_g where 0 < y < 180° then the value of y is —
(A) 45°, 120° (B) 30°, 120°

(C) 60°, 150° (D) 60°, 120°

fag (—2, —3) &y urg # Rerg € ?
(A) =g (B) T<ira

25



70.

71.

72.

(C) fecira (D) oA
In which quadrant does the point (-2, -3) lie ?
(A) fourth (B) third
(C) second (D) first

afe APQR # ZP 3R ZQ & A HHe: 45° AT 30° & AT q = 10 9HT T

p &1 d19 8N
(A) 10vV2 |+ (B) 20v2 &+
(C) 10 & (D) 20 w#

If in APQR the value of 2P and £Q is 45° and 30° respectively and q

= 10 cm then the value of p will be

(A) 10v2 cm (B) 20v2 cm

(C)10 cm (D) 20 cm

cos1%.cos2’.cos3’ ...... cos90° &7 A B
1 V3

(A) 5 (B) 5

(C) 1 (D)0

The value of cos1°.cos2°.cos3’ ...... cos90° is equal to
1 V3

(A) 5 (B)

(C) 1 (D)0

g (2, 3) & ufafem x 31e7 & ATve F=ifed § | & © ?

26



73.

74.

(A) (-2,-3) (B) (-2, 3)
(C) (2,-3) (D) (2, 3)

Which one of the following is the image of the point (2, 3) with respect

to x-axis ?
(A) (-2, -3) (B) (-2, 3)
(C) (2, -3) (D) (2, 3)

Th Ad JRR & WS & odWls SAGI s & V3T & al gd &l

ST BT BT
(A) 30° (B) 60°

(C) 90° (D) 45°

The length of the shadow of a mile stone is v/3 times of its height, then
the angle of elevation of the sun will be

(A) 30° (B) 60°

(C) 90° (D) 45°

sin(270° + @) &1 A9 BIAT ©

(A) -sinf (B) sing

(C) -cost (D) cosb

The value of sin(270° + 6) is equal to

(A) -sinf (B) sing

(C) -cost (D) cos6

27



75.  c0s3600° =
(A)O (B) 1

(C) -1 (D)

N R

76. IS sin@ - cosh = 14T sinf + cosH &1 A BN
(A) -1 (B) 1
(C) +1 (D)0
If sin6 - cos@ = 1 then the value of sing + cosd will be
(A) -1 (B) 1
(C) 1 (D)0

77. I xcosh = a 3R y = atand a1 x* — y* &1 A BN

(A) = (B) a2

a2

(C)

Q=

(D)a
If xcos@ = a and y = atan@ then the value of x> — y? will be

(A) (B) a?

1
az

(C) (D) a

Q|m

78. AT x:y=2:3AAMy:z=4:5dA x:y:z P q49 8T
(A)6:8:10 (B)5:7:9
(C)8:12:15 (D)15:12:8

Ifx:y=2:3 andy:z=4:5 then the value of x : y : z will be

28



79.

80.

81.

(A)6:8:10 (B)5:7:9

(C)8:12:15 (D)15:12:8

el F3rgsT & <1 qolrsll &1 ofFls HA: 3 JAT dAT 4 FHT B T2 I 419
®T DI 30° B AT ST BT &%l AT

(A) 7 a1 | (B) 1 & =+

(C) 3 o &+ (D) 4 &= 0

If the length of the two sides of a triangle be 3 cm and 4cm respectively
and the angle between them be 30° area of the triangle will be

(A) 7 sq.cm (B) 1sq.cm

(C)3sg.cm (D) 4 sg. cm

afe A+ B =458 @ (1 + tanA)(1 + tanB) &1 719

e fdl B & 1 olrell & JHTg HASE 5 941, 12 JH1 3R 13 T 8
TN SHHT &A% 30 I I B Al 39D URIA @ A B w18 BRI

(A) 6 THI0 (B) 12,5 10
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82.

83.

84.

(C) 6.5 HHI0 (D) 5.5 HHI0
If the length of all the three sides of a triangle be 5 cm, 12 cm and 13
cm respectively and its area be 30 sq. cm then the length of the radius

of it circum circle will be

(A) 6 cm (B) 125 cm
(C) 6.5 cm (D) 5.5 cm
tan495° =

(A) 1 (B) 2

(C)0 (D) -1

I fodll 90 @ @ & FRme HH (3, 4) T (3, —4) B A @ D=

3 e 8
(A) (0,0) (B) (3,4)
(C) (-3,4) (D) 3,—4)

If the co-ordinates of the diameter of a circle be (-3, 4) and (3, -4) then
the co-ordinates of its centre will be

(A) (0,0) (B) 3,4)

(C) (=3,4) (D) 3,—4)

e fsh Bra & 9wl & fcenss wwer (3, 4), (4, 7) @1 (8, 10) € AT 91
GG B ENI CaRSTE|

(A) (7, 5) (B) (5. 7)
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85.

86.

87.

(C) (7, 8) (D) (8,5)
If the co-ordinates of the vertices of a triangle be (3, 4), (4, 7) and

(8, 10) respectively then the co-ordinates of its centroid will be

(A) (7, 5) (B)(5,7)
(C) (7, 8) (D) (8, 5)
cos120° =

(A) O (B)+
©)-3 (D) 1

a® g 7 @ forw fgd (a, 1), (1, -1) T (11, 4) T & ?

(A)-5 (B)S5

(OF (D) T 31 P T

For what value of a the points (a, 1), (1, -1) and (11, 4) are collinear ?
(A) -5 (B)5

(C) = (D) None of these

&= fag¥ (a, 0), (0, b) T (1, 1) W € @ a + b & A 8R1
(A) — (B) a2h?

(C) ab (D) 379 ®Ig &l
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88.

89.

90.

Three points (a, 0), (0, b) and (1, 1) are collinear then the value of

a + b will be

(A) — (B) a?h?

(C) ab (D) none of these

ofint (6, 3), (-3, 5) T2T (4, —2) dTel IS FT &ThSA ©

(A) 98 o gbTg (B) 49 T THTS

(C) T =f gard (D) & B¢ T

Area of the triangle having vertices (6, 3), (-3, 5) and (4, -2) is
(A) 98 sq. unit (B) 49 sq. unit

(C) = sq. unit (D) None of these

(2, 5) T (-3, 4) fa=gall &I WA o1l WERGvE Bl y (e by U H

fovyaa axa 8 7
(A) 5: 4 (B)4:5
(C)2:3 (D) 374 ®Ig &l

In what ratio does the y-axis divide the line segment joining the points

(2,5)and (-3,4) ?
(A)5: 4 (B)4:5
(C)2:3 (D) None of these

st ABC & ST @& RIS (x4, Y1), (X2, Y2) TAT (x3, Y3) & AT SAD 3Tk

T D DI T
(A) axi + bx, + cx3 (B) ay, + by, + cys
a+b+c a+b+c
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91.

92.

(C) az + bz + C2 (D) X1Y1 + X2Y2 + X3Y3
X1+ X +Xx3 a+b+c

The co-ordinates of the vertices of a triangle ABC be (x4, Y1), (x2, ¥2)

and (xs, ys3) then the ordinate of its incentre is

axq + bxy + ¢cx3 ayq + by, + cy3
(A) (B)
a+b+c a+b+c
a®+ b% +c? X1Y1 t X2Y2 + X
(C (D) 1YV1 2Y2 3Y3
X1+ x5 + X3 a+b+c

fa=gall (2, —3) 3R (5, 6) Bl AT YERIvS DI x—3feT fba Ui H
favad axay & °?
(A)2:1 (B)1:2

(C)2:3 (D) g4 ®rg el

In what ratio does the x-axis divide the line segment joining the points
(2, -3) and (5, 6) ?

(A)2:1 (B)1:2

(C)2:3 (D) none of these

el s & <1 o (-1, 4) TT (5, 2) B 3R SHHT b= (0, —3) B A
st &1 daRT o 'R

(A) (-15, -4) (B) (-4, -15)

(C) (4, 15) (D) (4, 3)

Two vertices of a triangle are (-1, 4) and (5, 2) and its centroid is

(0, -3) then the third vertex of the triangle will be.
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93.

94.

95.

(A) (-15,-4) (B) (-4, -15)

(C) (4, 15) (D) (4, 3)

g (= — )P @ Rg a2

secO’ cosecO

(A) a? (B)
(C)a (D)~

a a

The distance of the point (

— cosece) from the origin is

(A) a2 (B)

(C)a (D)~

afe ot (x, y) (1, 2) @AT (2, 1) Tl B[S &1 SFHeT 6 I 3PS 8l Al Bl

x+yHFf§’
(A) 3 (B) 6
(C)4 (D) 577 P1g el

If area of the triangle having vertices (x, y) (1, 2) and (2, 1) be 6 sq.

units then the value of x +y is

(A)3 (B) 6
(C)4 (D) none of these
sin26°  cosec42® _

cos649 sec480

(A) -1 (B) 1
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96.

97.

98.

(C) 2

(D) 0

afe sina=§ﬁ?ﬂ cosﬂ=f—3?ﬁ sin(a + £) &1 A BN

56
65

(A)

(C)- =

65

(B) =

65

(D)-=

If sina = g and cosp = % then the value of sin(a + ) will be

56
65

(A)

(C)- =

65

cos(45° - 6) &1 719 ®

(A) %(cose + sinB)

(C) %(Cose - sind)

The value of cos(45° - 6) is

1

(A) =

(cos@ + sing)

(C) %(Cose - sinB)

U%A+B+C=§Fﬁ cot(A + B) =
(A) tanC
(C)—tan C

If A+ B+ C=then cot(A + B) =

35

(B) =

(D) - =

56

(B) V2 (sind + cosb)

(D) V2 (sing - cos@)

(B) V2 (sin@ + cos@)

(D) V2 (sing - cos@)

(B) cotC

(D) -cotC



99.

100.

(A) tanC

(C)—tan C

sin100° + cos100° &7 99 2

(A) V2sin55°

1 . 0
(C) \/—Esm55

The value of sin100° + cos100° is

(A) V2sin55°

(C) —=sin55°

1
V2

cosA+cosB

SinA+sinB

A+B

(A) tanT

A+B

(C) sinT

(A) tanT

A+B

(C) sinT

coSA+cos .

The value of — _
SIinA+sin
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(B) cotC

(D) -cotC

(B) V2cos55°

1 0
(D) \/—500355

(B) V2co0s55°

1 0
(D) \/—500355



yvs—9 ,/ Section-B

Y ST ue / Short Answer Type Questions.

U T 1 W 30 oY SR WA B | §9H 9 Bl 15 Ul & SR G | UAd U

& forg 2 af FeiRa 7 | 15x2=30

Question Nos. 1 to 30 are short Answer Type. Answer any 15 questions.

Each question carries 2 marks. 15x2=30

1.

sin75° &1 AT T BN | 2
Obtain the value of sin75°.

Teh ST BT U BI0T 2 : 3 : 4 31guId H © Al 41 drel DIV BT A4
IAIRTS Ugia H Fad B | 2

The angles of a triangle are in the ratio of 2 : 3 : 4 then express the

value of middle angle in centesimal system.

Rrg a & izze = sec + tand 2
Prove that |~ = sec + tanf
gfe 5sing = 4 1 tang &1 H1 ST BN | 2

If 5sinf = 4 then find the value of tané.
wﬁrﬂmaﬂwaﬁw(g)césﬁqu750%aﬁ?ﬁﬂ%aﬁwaﬁﬂm

e ¥ fHraprferd | 2
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10.

11.

One angle of a triangle is (g)c and the other is 75° then find the

measurement of third angle in radian.
I Uh FHIGYST BT YD eIV 40° Bl Ol $Hd Yllsll &l AT 1d
N | 2

If every exterior angle of a regular polygon is 40° then find the

number of sides of the polygon.

Ife tang = gFﬁ xsing + ycoso & A Iargd | 2

If tan6 = % then find the value of xsin@ + ycosf

gfe 3sing - cos?0 =11 O &1 |4 SITd B | 2
If 3sin0 - cos?6 = 1 then find the value of 4.
R1e @9 & tan32° + cot53° = cot58° + tan37°. 2

Prove that tan32° + cot53° = cot58° + tan37°.

. cosec46°
T ST 2
sec440
cosec46°
Evaluate
sec440

ol (—2, 3), (8 3) 3R (6, 7) A a7 BT & |IW TSI Yl B oAHIg
ST BN | 2
Find the length of the greatest side of the triangle having vertices

(-2, 3), (8, 3) and (6, 7)
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12.

13.

14.

15.

16.

17.

18.

19.

A 9T BN 2sin135° — 3cos120°. 2
Evaluate : 2sin135° — 3cos120°.

e 5% (a,2) 3R (3,4)® 91 &I T 8 B Al a BT AF AT BN 2

If the distance between the points (a, 2) and (3, 4) be 8 then find the value of a.
g e 6 g8 (5, —1), (2, 1) @1 (8, —3) Tdh Rad 81 2

Prove that the points (5, -1), (2, 1) and (8, -3) are collinear.

Rig o fp BL 5 _ 4an540. 2

c0s90% —sin ©

c0s9° + 5in9°

Prove that — tan54°.

s 0 —sin90 =
Rrg X & : tan3Atan2AtanA = tan3A — tan2A — tanA 2
Prove that : tan3Atan2AtanA = tan3A — tan2A - tanA

a9 Tt sin80° + sin20° 2

Evaluate sin80° + sin20°

. in7A—sin5A4

Ryg a3 fp —— = tanA 2
cos7A+cos5
Sin7A-sin5

Prove that = tanA
coSs7A+cos5

. 1 . )

Ife sinA = =4I sin2A &T A9 9T B | 2

2

If sinA = % then obtain the value of sin2A.
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20.

21.

22.

23.

24.

25.

26.

Rrg a3 5 1 =29 = tang 2

1+cos

Prove that : =™2%_ = tang
1+4+cos
Rig & 5 - o= cot 2 2
Prove that : sind_ oté
1—-cos
sin30 &7 sind & ®Y # TFT BN | 2

Express sin36 in the form of sinf.

. 1— A

Rreg a8 o —2 =tan’<. 2
14+cosA 2
1-— A

Prove that : —2> =tan®:
14cos 2

I T 12 HI0 S WH B FAg W USH dlell BRI B o=Ts 4y/3 Ho &I
ar g BT IIA DIV AT BN | 2

If a pole 12 m high casts a shadow 4+/3 m long on the ground then
find the sun’s elevation.

HﬁA=%ﬁsin2A+sin4AWHﬁﬁWﬁl 2
If A = % then find the value of sinA + sin*A -

IfE B DIV YT Reb BV Pl IR TN & Al UAD DU BT HA
forapTet | 2
If an angle is four times to its complementary angle then find the

value of each of the angles.
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27.

28.

29.

30.

fa=gatl (acosa, -asina) 3R (asina, acosa) @ I &1 g fFaref | 2
Find the distance between the points (acosa, -asina) and

(asina, acosa)

39 g & e sa Sty S fawgafl (=5, 9) dm (4, 3) &I e
Tl NG BT 5 : 2 & I[JUId H IIavac Pl © | 2

Find the co-ordinates of the point which intersects the line segment
joining the points (-5, 9) and (4, 3) internally in the ratio of 5 : 2.

g @ & coth — tand = 2cot26. 2
Prove that cotf — tang = 2cot26.

Gl a:b=2:33Rb:c=4:58 A a:b:c® A9 A &2
Ifa:b=2:3andb:c=4:5then find the value ofa: b : c.

<" S8 939/ Long Answer Type Questions.

U9 T 31 W 38 oI SR YA 2| 398 W b=l 4 Ul & SR < | UAH U

& foru 5 3fa fAuiRa 21 4x5=20

Question Nos 31 to 38 are Long Answer Type. Answer any 4 questions.

Each question carries 5 marks. 4x5=20

31.

32.

cosecld & wY H I FHpIvidy kil of dad & | 5

Express each of the trigonometrical ratios in the form of cosect.

SOIATT BT AT | sin(A + B) &7 A9 S1d &1 | 5
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33.

34.

35.

36.

37.

Find the value of sin(A + B) with the help of geometry.

aft A+B+C =—1 Rig #IfvTg 5 5
sin’A + sin’B + sin®C + 2sinAsinBsinC = 1.

fA+B+C = % then prove that

sin”A + sin’B + sin’C + 2sinAsinBsinC = 1.

Rrg &% ¥ sin20%in40°sin60%sin80° = — 5
Prove that sin20%sin40°sin60°sin80° = =

BAT @ S ¥ TP US B SURI AT TTHY 2+/3 HI0 BT G W 60° B DIV
WR S BT BT 7, Al US I g [l | 5

The upper portion of the tree breaking due to storm fell on the
ground forming an angle 60° with the ground, then find the height of
the tree.

FHIBRT cosh + cos260 + cos36 = 0 B & &N o 0°< 6 <27 5
Solve the equation cosd + cos26 + cos36 =0 when 0°< 6 <2z
Aol (x4, y1), (x2, Vo) TAT (x3, Y3). 97 B[S & dwdp & FI@s @d
N | 5

Find the co-ordinates of the centroid of a triangle having vertices

(1, Y1), (x2, Y2) @and (x3, Ys).
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38. fag o & 99 g s frams (3, 3), (h, 0) 3k (0, k) ¥ w e

. 1 1 1
g afy L+ L=l 5
h k 3

Prove that the three points whose co-ordinates are (3, 3), (h, 0) and

(0, k) are collinear if% +

L
W
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